Circles - Class Xl

Related Questions with Solutions

Questions

Quetion: 01

Two circles each of radius 5, have a common tangent at (1, 1) whose equation is 4x +
3y -7 = 0. The centres are

A. (-4, 4), (6, 2)

B. (-3, 4), (5, -2)

C.(5,4), (-3,-2)

D. (4, 2), (-2, 0)

Solutions

Solution: 01

A(1,1).The slope of tangent is %4

The sIop§ of line of centres
C1Cyis 1= tan d, [say]
Acentreis (1 +5cosf, 1+ 5sinf) = (5,4)

4
cosf = -, sinf = 3
) )
Cl A'(l'l:l Cz {5‘ 4)

(1,1)is the midpoint of C1Cy .. Cy = (-3, —2).
The centres are [-3, -2] and [5, 4].

Correct Options

Answer:01
Correct Options: C



